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MATEMATHUYECKAS OJTUMITUA A
IEPBBIN 3AOUYHBIN TYP

Pemmmre cucremy ypaBHEeHHIM

Pemure cucreMy ypaBHeHU

Pemure cucreMy ypaBHEeHU

Pemure cucremy ypaBHEeHHH

Pemure cucremy ypaBHeHUH

Pemure cucreMy ypaBHeHU

Pemmre cucremy ypaBHEHUM

Pemmre cucremy ypaBHEHUM

Pemure cucreMy ypaBHeHU
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Pemure cucreMy ypaBHEeHU

X+Yy+Xxy=19,
{xy(x+ y)=284.
X+ Y+ X+y=32,
{12(x+ y) =TXy.

X —y? =19(x-y),
{x3 +yY =7(X+Y).

xy+i+5+1=13,
Xy y X

y—i—£+1 12
Xy y X

X +y’ 31

x+y 7

x> +xy+y>=3.

X+Yy=a,
x*+y* =b*.
{&/x2 —y? =x+9y,

X' +2X7y +y? + X =2X" + 2%y + Y + 506.
%/§+if=§€/X7,

x+y=10.

JI-16y* —J1-16x* =2(x+y),

x2+y2+4xy:%.

I +Y? X -y 5447
Fooy Ny s
X’ +2y* =118.

az—x2+y2—b2+ a2+x2+y2+b2 4
2 _p? 2 2 2 2 2 2 -0
y a - —x y +b® a‘+x

Xy = ab,
a=0,b=0.
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Pemmre cucremy ypaBHEHHIM

X—y+2=0,

XZ—Xy—-yz=-7,

Xyz = 6.

X—y —yz-17=0,
x—y-y'-2"=0,

X+y—-y —z=0.

X2 +4xy+6y* =11,

X* +4xz+122° =9,

y’ +3yz+227° =0.

X4y +3x(x+ D) +3y(y+ 1) =a,
Y +2° +3y(y+1)+3z(z+1)=b,
7 +x +32(z+1)+3x(x+1) =c.



